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Quiz #3, Math 116, Spring 2007

1. The population paradox occurs when...

One state grows faster but loses a seat to another state which grew more slowly.
2. There are 200 seats to be divided up among three states.  Find the apportionment using Jefferson’s method.  Use the modified divisor 4.475.

	
	
	Jefferson’s

	State
	Population
	MQ
	Final

	Xylo
	502
	112.17
	112

	Yani
	321
	71.73
	71

	Zuza
	77
	17.20
	17

	Total
	900
	
	200


3. Describe the New States Paradox.
Adding a new state and new seats which are fairly apportioned, nonetheless changes the apportionment of old states
4. Which apportionment methods favor large states over small ones?

Hamilton’s and Jefferson’s

